Q;@ (%:% C@ Multipliser desimaler med ti

StudentName: __ ExamDate: __ ExamScore: ____
3, 845 x 100000 = 1, 66 x 1000000 =
3,736 x 100000 = 2,672 %100 =
1, 818 x 1000000 = 8, 847 x 100000 =
2,135 x 10000 = 3,952 x 10 =
6,116 x 10 = 9,908 x 10 =
5,087 x 100 = 2,549 x 100 =
8,662 x 100 = 5,929 x 100 =
5,702 x 10000 = 7, 109 x 100000 =
9,969 x 1000000 = 5,211 x 1000000 =
4,7 % 10000 = 4,169 x 100 =
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3, 845 x 100000 = 384500

3,736 x 100000 = 373600

1, 818 x 1000000 = 1818000

2,135 x 10000 = 21350

6,116 x 10 =61.16

5,087 x 100 = 508.7

8,662 x 100 = 866.2

5,702 x 10000 = 57020

9,969 x 1000000 = 9969000

4,7 x 10000 = 47000

ExamDate: ExamScore:

1, 66 x 1000000 = 1660000

2,672 %100 = 267.2

8, 847 x 100000 = 884700

3,952 x 10 = 39.52

9,908 x 10 = 99.08

2,549 x 100 = 254.9

5,929 x 100 = 592.9

7, 109 x 100000 = 710900

5,211 x 1000000 = 5211000

4,169 x 100 =416.9
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